

Eligiusz Mieloszyk

Boundary value problem for a difference equation

Czechoslovak Mathematical Journal, Vol. 40 (1990), No. 3, 361–366

Persistent URL: <http://dml.cz/dmlcz/102389>

Terms of use:

© Institute of Mathematics AS CR, 1990

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

BOUNDARY VALUE PROBLEM FOR A DIFFERENCE EQUATION

ELIGIUSZ MIEŁOSZYK, Gdańsk

(Received January 11, 1986)

In the paper there is considered a difference equation

$$a_k w_{k+2} + b_k w_{k+1} + c_k w_k = f_k$$

with conditions

$$w_{k_0} = a, \quad w_{k_1} = b.$$

Suppose we are given the operational calculus $CO(L^0, L^1, S, T(q), s(q), Q)$, where L^0 and L^1 are linear spaces. $S, T(q), s(q)$ are linear operations called derivative, integral and limit condition, so that: $S: L^1 \rightarrow L^0$ (onto), $T(q): L^0 \rightarrow L^1$, $s(q): L^1 \rightarrow \text{Ker } S$, $q \in Q$ where Q is the set of indices. Let us assume that the operations $S, T(q), s(q)$ satisfy the following properties:

$$\begin{aligned} ST(q)f &= f \quad \text{for } f \in L^0, \\ T(q)Sg &= g - s(q)g \quad \text{for } g \in L^1. \end{aligned}$$

(Axioms, properties of operational calculus etc. see [1, 2, 3, 5]).

The operational calculus $CO(C(N), C(N), S = \Delta, T(k_0), s(k_0), Q = N)$ is a known example of operational calculus, where $C(N)$ is a space of the sequences of real numbers $x = \{x_k\}$, $k = 0, 1, 2, \dots$. The derivative Δ , the integral $T(k_0)$ and the limit condition $s(k_0)$ are defined by the formulas

$$(1) \quad \Delta\{x_k\} = \text{df } \{x_{k+1} - x_k\},$$

$$(2) \quad T(k_0)\{f_k\} = \text{df } \begin{cases} 0 & \text{for } k = k_0, \\ \sum_{i=k_0}^{k-1} f_i & \text{for } k > k_0, \\ -\sum_{i=k}^{k_0-1} f_i & \text{for } k < k_0, \end{cases}$$

$$(3) \quad s(k_0)\{x_k\} = \text{df } \{x_{k_0}\}, \quad \{x_k\}, \{f_k\} \in C(N) \quad (\text{see [4]}).$$

Definition 1. [7]. Operation $\Delta_{p_k}: C(N) \rightarrow C(N)$ defined by the formula

$$(4) \quad \Delta_{p_k}\{u_k\} = \text{df } \{u_{k+1} - p_k u_k\}$$

where $\{p_k\}$ is an arbitrarily fixed sequence such that $p_k \neq 0$ for $k = 0, 1, 2, \dots$

will be called a *difference derivative* of the base $\{p_k\}$.

Remark. We will be assuming that $\prod_{i=0}^{-1} (\cdot) = \text{df } 1$.

Theorem 1. [7]. For a difference derivative of the base $\{p_k\}$, the operation $T_{p_k}(k_0): C(N) \rightarrow C(N)$ defined by the formula

$$(5) \quad T_{p_k}(k_0) \{f_k\} = \text{df} \left\{ \prod_{i=0}^{k-1} p_i \right\} T(k_0) \left\{ \frac{f_k}{\prod_{i=0}^k p_i} \right\}$$

is an integral and the operation $s(k_0): C(N) \rightarrow C(N)$ defined by the formula

$$(6) \quad s_{p_k}(k_0) \{x_k\} = \text{df} \left\{ \frac{\prod_{i=0}^{k-1} p_i}{\prod_{i=0}^{k_0-1} p_i} \right\} s(k_0) \{x_k\}$$

is a limit condition.

Remark 2. Instead of writing “sequence $\{u_k\}$ ” we will often write “ u_k ”.

Corollary. If $\alpha_k \neq 0$ for $k = 0, 1, 2, \dots$ then the operations defined by the following formulas

$$(7) \quad \Delta_{p_k}^{\alpha_k} x_k = \text{df } \alpha_k (\Delta_{p_k} x_k),$$

$$(8) \quad T_{p_k}^{\alpha_k}(k_0) f_k = \text{df } T_{p_k}(k_0) \left(\frac{f_k}{\alpha_k} \right),$$

$$(9) \quad s_{p_k}^{\alpha_k}(k_0) x_k = \text{df } s_{p_k}(k_0) x_k, \quad x_k, f_k \in C(N)$$

satisfy the axioms of the operational calculus.

Theorem 2 [8]. If $a_k \neq 0$ and $c_k \neq 0$ for $k = 0, 1, 2, \dots$ then the difference equation

$$(10) \quad a_k w_{k+2} + b_k w_{k+1} + c_k w_k = f_k$$

can be always presented in the equivalent form

$$(11) \quad (\Delta_{p_k}^{\alpha_k})^2 w_k = \alpha_k \alpha_{k+1} \frac{f_k}{a_k}$$

where

$$(12) \quad \alpha_k = \prod_{i=0}^{k-1} \frac{-p_i}{\frac{b_i}{a_i} + p_{i+1}}$$

and the sequence p_k is a solution of the difference equation

$$(13) \quad p_k(b_k + a_k p_{k+1}) = -c_k.$$

Definition 2 [3]. If $L^1 \subset L^0$ then we denote

$$L^2 = \text{df} \{x \in L^1: Sx \in L^1\}.$$

Assuming $n = 2$ in [9] we will get

Theorem 3. *A solution of an abstract differential equation*

$$(14) \quad S^2x = f$$

with conditions

$$(15) \quad s(q_1)x = x_{q_1}$$

$$(16) \quad s(q_2)x = x_{q_2}, \quad x \in L^2, \quad f \in L^0 \supset L^1$$

(a) exists if the operation $[T(q_1) - T(q_2)]|_{\text{Ker}S} = \text{df} U$ is a surjection onto $\text{Ker} S$;

(b) exists and there is exactly one such solution if the operation U is a bijection onto $\text{Ker} S$.

Proof. (In [9] you can find the proof for an equation of the n -order.)

On the basis of axioms of operational calculus and condition (15) we have

$$x = T^2(q_1)f + T(q_1)c + x_{q_1}, \quad c \in \text{Ker} S.$$

Applying condition (16) we will get the equation

$$(17) \quad [T(q_1) - T(q_2)]c = x_{q_2} - x_{q_1} - [T(q_1) - T(q_2)]T(q_1)f$$

from which we can find $c \in \text{Ker} S$.

The analysis of the equation (17) gives us the thesis of theorem 3.

Theorem 4. *If sequence p_k satisfies the difference equation (13) and*

$$(18) \quad A = \text{df} \sum_{k=k_0}^{k_1-1} \frac{1}{p_k} \prod_{i=0}^{k-1} \frac{c_i}{a_i p_i^2} \neq 0$$

then the difference equation

$$(19) \quad a_k w_{k+2} + b_k w_{k+1} + c_k w_k = f_k, \quad a_k \neq 0, \quad c_k \neq 0 \quad \text{for } k = 0, 1, 2, \dots$$

with conditions

$$(20) \quad s(k_0)w_k = w_{k_0} = a,$$

$$(21) \quad s(k_1)w_k = w_{k_1} = b, \quad k_0 < k_1$$

has only one solution.

Proof. From the theorem 2 it follows that the difference equation (19) is equivalent to the difference equation (11).

From formula (6) it follows that conditions (20), (21) are equivalent to conditions

$$(22) \quad s_{p_k}(k_0)w_k = \frac{\prod_{i=0}^{k-1} p_i}{\prod_{i=0}^{k_0-1} p_i} w_{k_0},$$

$$(23) \quad s_{p_k}(k_1) w_k = \frac{\prod_{i=0}^{k-1} p_i}{k_1 - 1} w_{k_1} \cdot \prod_{i=0}^{k-1} p_i.$$

We can apply now theorem 3 to the equation (11) with conditions (22), (23).

We will show when operation

$$(24) \quad [T_{p_k}^{\alpha_k}(k_0) - T_{p_k}^{\alpha_k}(k_1)] |_{\text{Ker} \Delta_{p_k}^{\alpha_k} = \text{Ker} \Delta_{p_k}}$$

is a bijection onto $\text{Ker} \Delta_{p_k}^{\alpha_k}$.

It is known that

$$d_k \in \text{Ker} \Delta_{p_k}^{\alpha_k} \text{ if and only if } d_k = \gamma \prod_{i=0}^{k-1} p_i, \quad \gamma \in R.$$

Applying (5), (8), (12), (13) and (2) we can notice that

$$\begin{aligned} [T_{p_k}^{\alpha_k}(k_0) - T_{p_k}^{\alpha_k}(k_1)] d_k &= \left(\prod_{i=0}^{k-1} p_i \right) [T(k_0) - T(k_1)] \left(\frac{d_k}{\alpha_k \prod_{i=0}^{k-1} p_i} \right) = \\ &= \gamma \left(\prod_{i=0}^{k-1} p_i \right) [T(k_0) - T(k_1)] \frac{1}{\left(\prod_{i=0}^{k-1} \frac{p_i}{\frac{b_i}{a_i} - p_{i+1}} \right) p_k} = \\ &= \gamma \left(\prod_{i=0}^{k-1} p_i \right) [T(k_0) - T(k_1)] \left(\frac{1}{p_k} \prod_{i=0}^{k-1} \frac{c_i}{a_i p_i^2} \right) = \\ &= \gamma \left(\prod_{i=0}^{k-1} p_i \right) \left(\sum_{k=k_0}^{k_1-1} \frac{1}{p_k} \prod_{i=0}^{k-1} \frac{c_i}{a_i p_i^2} \right) \end{aligned}$$

so

$$(25) \quad [T_{p_k}^{\alpha_k}(k_0) - T_{p_k}^{\alpha_k}(k_1)] d_k = \gamma \left(\prod_{i=0}^{k-1} p_i \right) \left(\sum_{k=k_0}^{k_1-1} \frac{1}{p_k} \prod_{i=0}^{k-1} \frac{c_i}{a_i p_i^2} \right).$$

It follows from the last equality that under assumption (18) that $A \neq 0$ the operation (24) is a bijection onto $\text{Ker} \Delta_{p_k}^{\alpha_k}$.

Theorem 5. *Difference equation (19) with conditions (20), (21)*

(a) *has infinitely many solutions if*

$$B = \text{df} \frac{b}{\prod_{i=0}^{k_1-1} p_i} - \frac{a}{\prod_{i=0}^{k_0-1} p_i} - \sum_{k=k_0+1}^{k_1-1} \left[\left(\frac{1}{p_k} \prod_{i=0}^{k-1} \frac{c_i}{a_i p_i^2} \right) \left(\sum_{\ell=k_0}^{k-1} \frac{f_\ell}{a_\ell \prod_{i=0}^{\ell} p_i} \right) \right] = 0$$

and $A = 0$,

(b) *has no solution if $A = 0$ and $B \neq 0$.*

Proof. It is known that the difference equation (19) with conditions (20), (21) is equivalent to the difference equation (11) with conditions (22), (23).

In the further part of the proof we will use the equation (17). Let us calculate its right side in the case of equation (11) with conditions (22), (23).

First let us calculate

$$[T_{p_k}^{\alpha_k}(k_0) - T_{p_k}^{\alpha_k}(k_1)] \left(T_{p_k}^{\alpha_k}(k_0) \left(\alpha_k \alpha_{k+1} \frac{f_k}{a_k} \right) \right).$$

Applying (5), (8), (12), (13) and (2) we can easily notice that

$$\begin{aligned} & [T_{p_k}^{\alpha_k}(k_0) - T_{p_k}^{\alpha_k}(k_1)] \left(T_{p_k}^{\alpha_k}(k_0) \left(\alpha_k \alpha_{k+1} \frac{f_k}{a_k} \right) \right) = \\ & = \left(\prod_{i=0}^{k-1} p_i \right) [T(k_0) - T(k_1)] \left(\frac{1}{\alpha_k p_k} T(k_0) \left(\frac{\alpha_{k+1} f_k}{a_k \prod_{i=0}^k p_i} \right) \right) = \\ & = \left(\prod_{i=0}^{k-1} p_i \right) [T(k_0) - T(k_1)] \left\{ \left(\frac{1}{p_k} \prod_{i=0}^{k-1} \frac{c_i}{a_i p_i^2} \right) T(k_0) \left(\frac{f_k}{a_k \prod_{i=0}^k \frac{c_i}{a_i p_i}} \right) \right\} = \\ & = \left(\prod_{i=0}^{k-1} p_i \right) \sum_{k=k_0+1}^{k_1-1} \left(\left(\frac{1}{p_k} \prod_{i=0}^{k-1} \frac{c_i}{a_i p_i^2} \right) \left(\sum_{l=k_0}^{k-1} \frac{f_l}{a_l \prod_{i=0}^l \frac{c_i}{a_i p_i}} \right) \right). \end{aligned}$$

The right side of the equation (17) will have the form

$$\begin{aligned} & \frac{\prod_{i=0}^{k-1} p_i}{\prod_{i=0}^{k_1-1} p_i} b - \frac{\prod_{i=0}^{k-1} p_i}{\prod_{i=0}^{k_0-1} p_i} a - \left(\prod_{i=0}^{k-1} p_i \right) \sum_{k=k_0+1}^{k_1-1} \left(\left(\frac{1}{p_k} \prod_{i=0}^{k-1} \frac{c_i}{a_i p_i^2} \right) \left(\sum_{l=k_0}^{k-1} \frac{f_l}{a_l \prod_{i=0}^l \frac{c_i}{a_i p_i}} \right) \right) = \\ & = \left(\prod_{i=0}^{k-1} p_i \right) \left\{ \frac{b}{\prod_{i=0}^{k_1-1} p_i} - \frac{a}{\prod_{i=0}^{k_0-1} p_i} - \sum_{k=k_0+1}^{k_1-1} \left(\left(\frac{1}{p_k} \prod_{i=0}^{k-1} \frac{c_i}{a_i p_i^2} \right) \left(\sum_{l=k_0}^{k-1} \frac{f_l}{a_l \prod_{i=0}^l \frac{c_i}{a_i p_i}} \right) \right) \right\}. \end{aligned}$$

From the above facts and from (25) it follows that in this case the equation (17) has the form

$$(26) \quad \gamma A = B.$$

From (26) there follows the thesis of theorem 5.

Remark 3. Let us notice that it isn't necessary to know all the sequence p_k to use theorem 4 or theorem 5.

It is enough to know its k_1 first elements.

References

- [1] *Bittner R.*: On certain axiomatics for the operational calculus Bull. Acad. Polon. Sci. Cl. III, 5 (1957), 855—858.
- [2] *Bittner R.*: Operational calculus in linear spaces. *Studia Math.* 20 (1961), 1—18.
- [3] *Bittner R.*: Rachunek operatorow w przestrzeniach liniowych PWN. Warszawa 1974.
- [4] *Bittner R., Mieloszyk E.*: Properties of eigenvalues and eigenelements of some difference equations in a given operational calculus. *Zeszyty Naukowe UG w Gdańsku, Matematyka* 5 (1981), 5—18.
- [5] *Dimovski I. H.*: Convolutional calculus. Publishing House of the Bulgarian Academy of Sciences. Sofia 1982.
- [6] *Ditkin V. A., Prudnikov A. P.*: Operacionnoe isčislenie. Moskva 1966.
- [7] *Levy H., Lessman F.*: Finite difference equations. London (in Polish Warszawa 1966).
- [8] *Mieloszyk E.*: Example of operational calculus. *Zeszyty Naukowe PG w Gdańsku. Matematyka XIII* (1985), 151—157.
- [9] *Mieloszyk E.*: Some equivalent form of a linear difference equation of the second order of variable coefficients obtained on the basis of operational calculus. *Zeszyty Naukowe PG w Gdańsku. Matematyka XIII* (1985), 159—164.
- [10] *Mieloszyk E.*: Existence and uniqueness of solutions of boundary value problems for abstract differential equation. *Acta Math. Hung.* 55, 1—2 (1990).

Author's address: Institute of Mathematics of the Technical University of Gdańsk, Majakowskiego 11, 80-952 Gdańsk, Poland.